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Direction : Answer the following questions by selecting the nost appropriate option.
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According to Vygotsky, a range of task
too difficult for the child to do alone but
possible with the help of adults and
more skilled peers is called :

(1) Scaffolding

(2) Inter subjectivity

(3) Guided participation

(4) Zone of proximal development

Which of the following psychologist
defined adolescence as "Adolescence is
that span of years during which boys
and girls move from childhood to
adulthood, mentally, emotionally,
socially and physically ?

(1) A.T. Jersild

(2) E.B. Hurlock

(3¥ L P. Davis

- (4) H. Sorenson

_Learne.r centered instructional strategy
in which students are encouraged to
construct their understanding with the

assistance of teacher through questions
and directions is :

(1) Discovery learning

(2> Guided discovery learning
(3) Problem based learning
(4) Project based learning

Positive facilitation of present learning
through past learning, for example
addition helps multiplication. This type
of transfer of learning is called :

(1) Vertical
(3) Lateral

#®) Sequential
(4) Bilateral
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Which of the following slnlc_n1f:lnt.in):]0;1
appropriately defi nes the lcrm'nlm u.s)(’ i’,]
(1) Educating chtldrt;n ]wm specia
' scial schoo
needs in special s ‘ .
(2) Educating children with speua}
needs in special classroom O

school " y
(3) Educating children with Spec,llal
needs most of the time 1n regular

class : i
; : with special
(4) Educating Chlldrenin the regular

needs full time
classroom .
Which of the following programme 1S
not suitable for gifted children ?
(1) Special classes
(2) Remedial Teaching
(3) Acceleration
(4) Enrichment in regular classroom
setting

. According to Piaget, adolescents ability

to evaluate the logic of verbal statement
without  referring  to real-world
circumstances is :

(1) Propositional thought

(2) Transitive inference

(3) Cognitive mapping

(4) Decentration

Parul's intelligence test indicate that she
is average to above average intelligent.
However her grades in reading,
spellings, social sciences and science are
very low. Her maths grades are quite
high & her writing skills are adequate.
Parul most likely has : .

(1) Dyscalculia (2) Dysgraphia
(3) Dyslexia (4) Dysphasis
According to Gardner, the ability to
detect and respond appropriately to the
moods, temperaments, motivations and
intentions of others, is known as :

(1) Linguistic intelligence

(2) Bodily — kinesthetic intelligence
(3) Interpersonal intelligence

(4) Intrapersonal intelligence
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The democratic organisation of school
influence learning, this factor of
learning is related to :
(B "Methodological aspect
(2) Social aspect
(3) Physiological aspect
(4) Psychological aspect
Which of the following type of learning
style is used when students approach of
learning material in a way that helps
them understand the meaning of the
materials ?
(1) Practical style (2) Impulsive style
(3) Surface style (4) Deep style
Which of the following is a good
assessment strategy to avoid cultural
bias ?
(1) Assess students using a variety of
methods
(2¥ Use a single, good standardized
test
(3) Assume that ethnic differences are
due to heredity
(4) Avoid using  portfolio
assessment purposes
Rohan is reading a latest Bahubali comic
book because he cannot wait to see what
happens to Bahubali and his family. This
is best example of :
(J) Only intrinsic motivation
(2) Only extrinsic motivation
(3) Both intrinsic and extrinsic motivation
(4) Neither intrinsic nor extrinsic motivation
Learning situation in which multiple
partners stimulate and encourage one
another is called :
¢f) Team teaching
(2) Programmed instruction
(3) Cooperative learning
(4) Discovery learning

for
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Which of the following is nof an

appropriate  strategy for 1mproving

students problem solving ?

(1) Functional fixedness of students

() Give extensive opportunitics o
solve real-world problems

(3) Involve parents in
problem solving

(4) Monitor students
ineffective problem
strategies

children's

effective and
solving

According to Bronfenbrenner's

Ecological Theory, student’s family,
peers and school etc. influence his/her
development and they belong to the :

(1) Chrono system (2) Micro system
(3) Macro system (4) Exo system
......... is to social cognitive theory as

Vygotsky is to social constructivist
theory.

(¥ Skinner
(3) Piaget

(2) Seigler
(4) Bandura

Speaking or writing in such a way as to
have an impact on others is known as the :
(1) Grammar of language

(2) Phonemes of language

(3) Pragmatics of language

(4) Morphemes of language

In Kohlberg's theory, at which level
moral development is internalized and
not based on external standards ?

(1) Pre conventional level

(25 Conventional level

(3) Post conventional level

(4) Mutual interpersonal level
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According to Piaget, which of the
following characteristics is not related
to formal operational stage of children ?
(1) Hypothetico-deductive reasoning
(2y Idealistic reasoning

(3) Spatial reasoning

(4) Abstract reasoning

Which of the following statement is
correct about the nature of emotions ?

(1) Emotional expressions are

modified by learning.
(2 Emotions are permanent state of
the organism.

(3) Emotions are aroused by internal
stimuli.

(4) Certain facial expressions of
emotions have different meanings.

Children considered as low vision who
have a visual acuity between :

(1) 20/70 to 20/200

(2) 20/20 vision with corrective lenses
(3) 6/6 vision with corrective lenses
4y 20/10 to 20/30

Most suitable strategy for a teacher,
when he/she is working with adolescent
students 1s to :

(1) Ask students to make comparisons

() Propose a . problem and invite
students to form hypothesis

(3) Give children  experience  in

ordering operations

(4) Construct an inclined plane or a hill

p.T.0.
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Which of the following statement is

incorrect about the principles of child

development ?

(1) Development follows a definite and
predictable pattern.

(25 All individuals are similar in their
development.

(3) Development  is
hereditary and environment.

works  on

product  of

(4) Development the

principle of integration.

A child's diet affect how tall the child
grows and even how effectively the
child can think and solve problems. In
this example development is primarily

influenced by :

(M Heredity

(2) Environment
(3) Early-later experience
(4) Continuity

Which teaching strategy is most likely
to foster the development of critical
thinking skill of students ?

(1) Giving a multiple choice test

(2) Assignment for students to create

timelines of important historical
dates

(3) Giving worksheets to students that
require them to recall the facts
presented in their text books

(47 Presenting students with statements
such as "Lal Bahadur Shastri was
our greatest Prime Minister" to
defend or refute '
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According to Erikson, in complex
societies teenagers experience which of
the following state ?

(1) Identity crisis

(2) Identity achievement

(3/)/Idcntity moratorium

(4) Identity foreclosure
Which of the following question is most

likely to get students to reflect on their
purpose ?

(1) What is most important to you in
your life ?

~ (2) How can you organise your life ?

(3) What can you do to get good
grades ?

(4r How can you set better short term
goal ?

Child's symptoms when, he/she can not

stay focused on a task, act impulsively,

ignoring social rules and lashing out

with hostility when

indication of :

(L Attention — deficit hyperactivity
disorder

(2) Slow learner

(3) Mentally retardation

(4) Amnesia

frustrated, 1is

Young people mainly girls engage in
strict dieting and excessive exercise.
This eating disorder in adolescence is
known as :

(1) Anorexia Nervosa
(2y Obsessive Compulsive Neurosis

(3) Neuro-developmental Disorder

(4) Bulimia Nervosa

L Level-3/4321
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Direction : Answer the following questions by selecting the most appropriate option.
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Identify the underlined word in the

46. Choose the correct set of articles from 50.
the given options in the following given sentence.
sentence against the blank space : I see him passing my house every day.
"The teacher wrote ......... outline of a DRGEn
storyon......... blackboard." (0h) G
]
@) %o @ atiihe (;) Present Participle
@)l the a (@) a, the (3) Infinitive
(4) Object
47. Choose the correct verb form in the
following sentence against the blank 51. Identify the compound word from the
Space so as to complete the sentence : options given below :
"My father .......... for Delhi (1) Development
yesterday."
(1) leave (2) will leave &) Neweszer
Y left (4) will be leaving (3) Powerful
(4) Childhood
48. Choose the correct option to fill in the
blank space in the sentence which 52. Fill in the blank with the correct
expresses the correct notion hinted in preposition :
the bracket against the blank space : Do you usually go out ... Saturday
DO onogas (command) apologise or evenings ?
face the consequences." @ in @) at
(o @) on (4) within
(2) shall
(3) may 53. Which one of the following sentences in
the options given below illustrates the
'(4) could use of Intransitive verb ?
49. Pick out the correct option to indicate (1) Fire burns.
the use of adjective in the following (2) The principal hoisted the flag on
sentence : Independence Day.
A Cool breeze blew from the sea. EUSho readin s e e
(1Y breeze (2) sea Shais :
3) cool @) blew (4Y Our team won the match.
Level-3/4321
e == Y S o : :h—i':
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Direction : Answer the followin g questions by selecting the most appropriate option.
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2
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(3) iii, iv, 1, i 4) 1iv, iii, 1, ii
9 'PROPERTY' ‘ff ejeﬂ‘f & 09 fpae
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If English alphabets are \yrit‘[en in
opposite order, then which 1s the 8th
letter of the 19th letter from left side ?

(1) T 2) P
3 Q “4) R

Find the Odd one out from given
options :

(1) 171 () 131

3) 161 (4) 181

Write the following words in the order
given in the dictionary :

1. Critical ii. Criterion

iii. Crisis iv. Crisp

(1) iii, iv, ii, i (2) 1, 1ii, iv, ii

(3) iii, iv, 1, ii (4) iv,iii, i, ii

In the word 'PROPERTY' how many
such pairs of letter exist, which has the
same number of letters between them

here as what they have between them in
their order in English Alphabet ?

(1) 0 ) 1

() 4 @ 3 :
Fiqd the wreng term in the following
series :

1CV, 5FU, 91T, 15LS, 170R

(1) SFU (2) 91T

(3) 15LS @ 170R

Two persons A and B stand in front of
each other in morning. If A's shadow's
lies in the left side of 'A", then'in which
direction B's facing ?

(3 South (2) North
(312 East (4) West .
' o
A==~

Y/ " -
A c :
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67. A businessman gives 15% discount on
the list price of his items. How much
_price he should mark on his items to the
cost price to get 19% profit ?
(1) 34% (2) 40%
(3) 25% (4) 30%

68. After 5 years, father's age will be three
times of his son's age. 5 years ago,
father's age was 7 times of his son's age.

~ ) The present age of the father is :

o) (Jy 40 years (2) 30 years
(3) 50 years (4) 45 years

69. If the selling price of 6 pens is equal to
the cost price of 8 pens, then profit/loss
in percentage is :
) 25% profit
(3) 33'%% loss

(2) 25% loss
(4) 33%% profit

70. If 2x+7_3x+11=2x+8_

s 5 : 5, then
_ 6=
@ (1) 1 Q@ -1
(B)2 4 -2

71. The curved surface area of a cylinder is
264 m* and its volume is 924 m’, then
what is the ratio between its diameter

and height ?
()7 ) 6:7
@) 37 “4) 7:3

72. What principal on compound interest
has their amount Rs. 650 in one year
and Rs. 676 in two years ?

(1) 520 593 (2) 572 594 (1) Rs. 520 (2) Rs.572
(3) 600 T (4) 62539 (3) Rs. 600 (4) Rs. 625
45 i P.T.O.
o O:E/f ¥ o
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P g7 YR AW H T Oy 2T 9T 2
q¥ & U SYR fRar m, Al e @ e
1% afie e &t O 2qq 240 5@
e@mmaﬁﬂ%m%ﬁr%?
(1) 5,000 %o (2) 6,000 o
(3) 8,000 o @) 12,000 &o
125 Hiex @it X 60 Rl ufey qer

P A QTR T G B 30 RS
IR T SR B | G A g Rt § 7

(br 375 Hiex (2) 225 Hiex

(3) 125 Hiex (4) 250 Hiex
3@#%@166{#%1?@
STD TG H ST 4 : 5 : 7 @, d
TG Bl T P oY fherit ¥ 7

(1) 8 a¥ ) 9 ay

@) 12 a9 4) 16 ad

fepet e & 60% faemeil oSl # qen
70% T | I gY, Ak 20% el
ANl fawdl H ergeiel Y& B qur 2500
foemelt S fawal & St @ @, @ g
qhefgr @ der e 8 7
(1) 3000 (2). 3500
(3) 4000 (4) 5000

A, B8 S92 &% C XD, E 9 a8
FIELARCS 9 R M C, BA
Gyt = o o e
AaIH &9  FTE °

(1) A,C A S 21 (2)C,D & T &
(3) D,C @ 927 81 (4)E,B @ g1 B |

U% 99 &l foecll |08 @l 81 A S8R
B & dlg ¥ X aifhg B A & 90 iR
Y%la‘rzaﬁaﬁmwwaﬁﬁ
g7

(2)W

(3) drA @) G
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73.

74.

75.

76.

7.

78.

A principal lends on simple interest for
two years. If rate of interest more than
1% the simple interest increased by
Rs. 240. Find out the principal :

(1) Rs. 5,000 (2) Rs. 6,000

(3) Rs. 8,000 (4) Rs. 12,000

At the speed of 60 km per hour, 125
meter long train crosses a bridge in 30
seconds. What is the length of bridge ?
(1) 375 meter (2) 225 meter

(3) 125 meter (4) 250 meter

The average age of three boys is 16 years
and the ratio of their ages is 4 : 5 : 7, find
out the age of smallest boy.

(2) 9 years

(4) 16 years

(1) 8 years
(3) 12 years

In an examination 60% of students passed
in English and 70% students passed in
Maths, 20% students failed in both subjects,
2500 students passed in both subjects. Find

out total number of students :
(1) 3000 (2) 3500
(3) 4000 (4) 5000

A is elder to B while C and D are elder
to E. E lies between A and C and C is
elder to B, then which of the following
statements is necessarily frue ?

(1) Aiselderto C (2) C is elder to D
(3) Diselderto C (4) E is elder to B

Bottom surface of a cube is empty. X is
marked between A and B. Y marked on
the left of A. Then Z marked on which
surface of cube ?
(1) bottom side
(3) in front side

(2) up side
(4) in back side

uy
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Ba CH g ARICHHED 4 79. A is the brother of B and C. D is the
A & Rar £ B @ FrefoReg & @ mother of C. E is the father of A. Then
P FHT FIT B 7 which statement is false "
(1) E % 39 B 21 (W Bis son of E.
(2) B & W E 31 (2) E is father of B.
(3) D % oft E 21 (3) E is husband of D.
(4) D H A R (4) Ais sonof D.
I e F R eml & adm 80. In English alphabet, how many letters
afeiers saRafda & ¥ 7 are unchanged in mirror image ?
(1) 8 ) 9 (1) 8 2 9
(3) 12 @ 11 3) 12 @ 11
. ARETEl A6 FeEfaiag # @ e e ® 81. The Markanda river does not flow in
78] @edhl & 7 ‘ which of the following district ?
(¥ FEE (2) AT (1) Kurushetra (2) Sonipat
(3) FA (4) =T (3) Karnal (4) Ambala
. o= s A Gﬁ qe7 g g @ 82. The c_listrict, which is mainly irrigated
o ik Efl)hll;i(s:;nal : (2) Jhajjar
(3) Fart (4) e (3) Bhiwani  (4) Rohtak
. GEETS T e Aar-2018 F 83. Which of the following was the partner
Frstfefiad & A fA-ar Hm T o ? ??Ztilr?lzlol]ns %urajkund International Craft
(L s (2) o4 (1) Egypt (2) France
3) Fofemm  (4) fiisEe (3) Kazakhstan (4) Kyrgyzstan
A Iq—& qgq Jaiyd © ¢ 84. The district, in which Gujari Mahal is
e situated :
(1) e (2) feme (1) Hansi (2) Hisar
(3) dEge (4) S (3) Panchkula  (4) Ambala
gordl & ' A oY % oHER T 85. On the basis of extent of the period as
grarn & Frefefea i) Chief Minister, arrange the following
Faid (maifus oafy wdwem) #H A Chief Ministers of Haryana in
Fyafea Fife : descending order (longest serving first) :
(i) W9 & (i) Bhajan Lal
(i) a1 el (i) Bansi Lal
(iii) gfu= e gger (iii) Bhupinder Singh Hooda
(iv) &d @ (iv) Devi Lal
#el e g Choose the correct code :
(1) (i), (i), (i), (iv) (1) (@), (i), (iid), (iv)
(2 (i), (i), (iii), (iv) (2) (i), (i), (i), (iv)
(3) (), (i), (iv), (ii) (3) (@), (i), (v), (i)
- AL @) (i), Giv), Gii), (1) @) (), (i), (i), (@) S
, Level-3/4321 e 2 con kb ] e o P T O
\ltn NS : \a"“ﬁx\ﬂ ov \ \/'9 \;é ‘1"8{1 ¢ % .l?
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Consider the following statements about

'86. S oAl B I} ¥ ereifofgd FUA W 86. :
feame g ¢ Shanno Devi :
. 2) Shanno Devi was the Deputy
(a) SIS Sl GOTE ORI HEAT B SUEAH 2 Speaker of Punjab Legislative
il Assembly.
(b) SI9 &R F T &S, S BRAen (b) When Haryana was formed; she
ﬁ?ﬂq THT h] HEY 37‘"- RIE2 || was elected as the Speaker of
INET § § DE-91/H-8 FF g8 Haryana Legislative Assembly.
B/ Which of the above statement/
(1) 249 (2) q& 2 statements is/are true ?
@) 33 (b) T ¥ (1) Only (a) 1's true
: N S a0 3 (2) Only (b) is true
)l (‘a) O (3) Neither (a) nor (b) is true
4) (2 W (b) Al & & (4) Both (a) and (b) are true
- 87. € RY TAHR-TA & HURH & 87. Who was the editor of 'Khair Andesh
o2 Newspaper ?
(1) dged 2y TR & (1) Chandulal  (2) Murlidhar
(3) BIg TH (4) M (3) Chhotu Ram (4) Sham Lal
88. 3w+ URPA TR 7 3 s A 88. Consider the following statements about
FTEfRad U W e i ¢ Eastern Peripheral Expressway :
(a) T8 Feol-THoEEE-GeEd TREE d (@ It is also known as Kundli-
it e & | Ghaziabad-Palwal Expressway.
(b) 3T@ F@ dag 200 fFHlo & S (b) The total length of this expressway
2l is more than 200 K.M.
SR & § -9 BT 7 o/8 Which of the above statement is/are
' true ?
(1) 3ad (a) TF © (1) only (a) is true
(2) @ad (b) 99 © , (2) only (b) is true
(3) T (a) X T & (b) TH (3) neither (a) nor (b) is true
: 4y (a) 8l (b) Al T & i (4) both (a) and (b) are true
89. fieififad & § fpg R &1 oge 89. Which of the following districts has the
T g9 FH & ° lowest population density 2
(1) ) (1) Karnal (2) Sirsa
(3) =X (4) W (3) Jhajjar (4) Mewat
90. BTN H ITHY TN ® : 90. The state tree of Haryana is :
(1) Ga ) Gl (1) Peepal (2) Khejari
(3) TTE, (4) (3) Banyan (4) Neem
_ Level-3/4321
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